GS’U:' YYW@?

B ) 9SaS Gy dall g pgldiac uydar 8 ) R

fabl (oo (2 lb (09 pIaS 0580 0 5 R p25-)

IS (s Aagll 5 35 oa alad) Wb ga ald ) gl g BlS S ja i Al k(g Cu"
ColS g gadidia U gla e b (i) Al (9 9 a6 (s 93 Cul (5 gualic
" s

Q . ?" I OL&.M}‘)L" ).| 3 I.. —Y

Sgil-)

S - Y
455 a3l o1 - \ Al 1 ino o> -

VUL W T ¢ oo b

PO R, > >,

~ — =\ R . & o
S’fé! ol SRl 3 )0 olyb gg plas S5ia-¥

M owlke sl w90 63 o0 Pl -0

o jilg 5 ALl F JUNTRCACI R az,b-Y JIE

T ol 0590 plas 4 laio ol pl )T QLS yid 50((53I1 M) HIKS 5 e 5 (o097

obgol-¥ Obswle-Y obslil-Y obgle-)




g Sogll il yiis-Y G 3 Jnzxo y Lo

2l slac udgi (o Al ,-F 2l yo9 LoV

oo Bl yiaS oy el oo 5l Al S i 3 3,5 o (g Ailgiaw] gld (s Aii—A

¢ Cwl

Job-Y yogm—Y JYSIE

¢ il ools Cdll bas juy s plas ac ol lai colo-9
o
ol -F 295-Y Gixo—Y W <di-)

Z

oSy P )

s es-f 9> 9 Fle-Y

3 39779 (3ol Wl 4y 55 plus’ o-N)
: oy
3,185 Lo ply wuolB plus & L wi,gl olggg.oa)qog.‘sdsﬁlg—\

. [ . of & o . o * . . * AQ’ o e
o 3l 303l g IS Cwlgs &M yolgd a4 o OL-Y

°
Syt B ouligy Cwos y oL dglg cowl oolid yxy g o as-Y

Iy by8 s puiliy oy age & 35 Olowy (o &5 g bo 4 )b Jlog-¥

: 4 el eld e 9y
Pl ol b Qi e GiliiaYly i) sl y
| Al Wgald 2 plal) oy o 8 pdal) Hhodiy

1l Ciguay AlSEE Y fia ALY LA Gulll) (e faas Lkl Y




I Liiall dualil) 45l o L) 430 3 PRI @\J_f

& Sz () Pl 0,50 Jomy dde (Lo az a9 01 1 51 dstws plaS o i 4 -1Y

Sl B g (095 s (655 s JLis u— L LS o@@e NP9 ol i

. ..\3.53.3

! aled 9 5098 G (55 3 S JLio 41— b (g ) O cdnel (oY

\ . .).3.59.3

AN (o0 395 Hps |y el i — (e (v g &.ﬁ&'w « a0l (Su-Y

AN (0 395 )y ‘\e/‘g k!

A%,
14- -Which sentence is.gr cad{l wrong? ©
o

1) The cartoon amuse children very much.
2) The interested students asked their teacher a lot of questions.
3) The old English physics teacher was very excited.

4) The dinner mother has made smells well.




